- tt: APEX DYNAMICS KOREA INC.

AB/ABR Series

« Planetary Gearboxes
« High Precision
« High Speed

High Precision _::_
Planetary Gearboxes

"ONI'VIHOM SOINVNAQ X3dY

~
o



Series

Specificatio

QIS AlO|= <14/<16mm(ABO60—1EtD}t S)

Gearbox Performance AE AO|= <19/<24mm
odel No | AB042 | ABO60 AB090 AB AB142 | AB180 | AB220C
3] 20 55 - 130 - 208 342 588 | 1,140
4 19 50 - 140 - 290 542 1,050 | 1,700
5 22 60 - 160 - 330 650 1,200 | 2,000
1 6 20 59 - 150 - 310 600 1,100 | 1,900
7 19 50 - 140 - 300 550 1,100 | 1,800
8 17 45 - 120 - 260 500 1,000 | 1,600
9 14 40 - 100 - 230 450 900 | 1,500
10 14 40 - 100 - 230 450 900 | 1,500
15 20 55 55) 130 130 208 342 588 | 1,140
Nominal Output Torque Ty Nm 20 19 50 50 140 140 290 | 542 | 1,050 | 1,700

25 22 60 60 160 160 330 | 650 | 1,200 | 2,000
30 20 55 55 150 150 310 | 600 | 1,100 | 1,900
35 19 50 50 140 140 300 | 550 | 1,100 | 1,800
40 17 45 45 120 120 260 | 500 | 1,000 | 1,600
2 45 14 40 40 100 100 230 | 450 900 | 1,500
50 22 60 60 160 160 330 | 650 | 1,200 | 2,000
60 20 55 55 150 150 310 | 600 | 1,100 | 1,900
70 19 50 50 140 140 300 | 550 | 1,100 | 1,800
80 17 45 45 120 120 260 | 500 | 1,000 | 1,600
90 14 40 40 100 100 230 | 450 900 | 1,500
100 14 40 40 100 100 230 | 450 900 | 1,500

Emergency Stop Torque Tanot" Nm 1,2 | 3~100 3 times of nominal output torque
Nominal Input Speed niy rpm 1,2 | 3~100 | 5,000 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
Max. Input Speed nig rpm 1,2 | 3~100 | 10,000 | 10,000 | 10,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 | 4,000 2 =
: 6 . 1 3~10 - - - <1 - <1 <1 <1 <1 NS
Micro Backlash PO arcmin 2 15100 - - - - - 23 3 3 3 2 %
. 1 3~10 | <3 £3 - <3 - <3 <3 £3 <3
Reduced Backlash P1 aremin I 95~100] <5 | <5 | <5 | <5 | <5 <5 <5 <5 ] <5
; 1 3~10 | <5 <5 - <5 - <5 <5 <5 <5
Standard Backlash P2 arcmin 2 115100 <7 =7 <7 =7 <7 =7 =7 =7 =7
Torsional Rigidity Nm/arcmin| 1,2 | 3~100 3 7 7 14 14 25 50 145 225
Max. Radial Load Fas N 1,2 [3~100 | 780 | 1,530 | 1,530 | 3,250 | 3,250 | 6,700 | 9,400 | 14,500 | 50,000
Max. Axial Load F2as? N 1,2 [ 3~100 | 390 765 765 | 1,625 | 1,625 | 3,350 | 4,700 | 7,250 | 25,000
Service Life hr 1,2 | 3~100 20,000
; o 1 3~10 = 97%
Efficiency n G 2 [15~100 = 04%

; 1 3~10 0.6 1.3 - 3.7 - 7.8 14.5 29 48
Weight Ko o [f5-100] 08 | 15 | 19 | 41 | 53 | 9 | 175 | 33 | 60
Operating Temp® © 1,2 | 3~100 -10°c~+90°C
Lubrication 1,2 | 3~100 Synthetic lubrication oils (NYOGEL 792D)

Degree of Gearbox Protection 1,2 | 3~100 IP65 (Option IP67)
Mounting Position 1,2 | 3~100 all directions
Noise Level(n;=3000 rpm,No Load) dB(A) 1,2 |3~100 | <56 | <58 | <60 [ <60 | <63 | <63 | <65 | <67 | <70
Gearbox Inertia
odel No age | AB042| AB060 |ABOGOA| AB090 |AB090A| AB AB142 | AB180 | AB220
8 0.03 | 0.16 - 0.61 - 325 | 9.21 | 28.98 | 69.61
4 0.03 | 0.14 - 0.48 - 2.74 | 754 | 23.67 | 54.37
o) 0.03 | 0.13 - 0.47 - 271 | 742 | 2329 | 53.27
1 6 0.03 | 0.13 - 0.45 - 265 | 7.25 | 22.75 | 51.72
7 0.03 | 0.13 - 0.45 - 262 | 7.14 | 22.48 | 50.97
8 0.03 | 0.13 - 0.44 - 258 | 7.07 | 22.59 | 50.84
9 0.03 | 0.13 - 0.44 - 257 | 7.04 | 22.53 | 50.63
10 0.03 | 0.13 - 0.44 - 257 | 7.03 | 22.51 | 50.56
15 0.03 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 23.29
20 0.03 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 23.29
Mass Moments of Inertia J1 kg - cm? 25 0.03 | 0.03 013 | 013 | 047 | 047 | 2.71 | 742 | 23.29
30 0.03 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 2329
85 0.03 | 0.03 013 | 013 | 047 | 047 | 271 | 742 | 23.29
40 0.03 | 0.03 013 | 013 | 047 | 047 | 271 | 742 | 2329
2 45 0.03 | 0.03 013 | 013 | 047 | 047 | 271 | 742 | 23.29
50 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
60 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
70 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
80 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
90 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
100 0.03 | 0.03 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
1. Ratio(i=Nin/Nout) 27| &Y %%ﬁoﬂ 55t Za|m EHET 100rpmoOlof, 2MXZA0| mat £Xls HAE £ JAoH SH "Z247| S 2o|C|Y BN 5183158
3. 47| ZZR2E  -10~90, 27| FHRE 0~40E 4. F|H7}SET Tos = 60% of Tanor
5. Service life 10,000hrs (S1:PI&@FZEZ) 6. AB042 1,25+ ABOBO 1,25+ ABO9O 2E POZ HIZHR

* 1240| 3 Al oSt s MRS SHLICH B, 719} 7120l S0l gL

= H30

7



450

C9

L2

L8

C8

L3

c10

@D5

L4 ‘
L7

B9

aC5

aC3

oc7

L5
T
= N g ¥
T f— B
D6 L9
sh e . 2D3 ¢ L10
aft Option S1 |-— Shaft Option S2 L
[unit:mm]
Dimension AB042 AB060 AB090 AB115 AB142 AB180 AB220
D1 50 70 100 130 165 215 250
D2 34 5.5 6.6 9 11 13 17
D3 13 16 22 32 40 & 75
D4 ¢ 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 15 142 180 220
L2 26 37 48 65 97 105 138
L3 515 7 10 12 15 20 30
L4 1 15 15 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 31 61 785 102 119.5 154 163.5
L9 45 48 7.2 10 12 15 15
L10 10 125 19 28 36 42 42
c1’ 46 70 100 130 165 215 235
c2* M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
cs' <M/<12' <14/ <16’ <19/ <24 <32 <38 <48 <55
c4' 25 34 40 50 60 85 116
cs* 30 50 80 110 130 180 200
ooy 315 8 4 5 6 6 6
cr 42 60 90 15 142 190 220
(of: 29.5 19 17 195 225 29 63
c9* 86.5 117 143.5 186.5 239 288 364.5
c10°* 8.75 13.5 10.75 13 15 20.75 53
B1ne & 5 6 10 12 16 20
H1 15 18 245 35 43 59 79.5

"ONI'VIHOM SOINVNAQ X3dY

~
N

1. ABO42Zt£H| 1/52} 171001 3PH3H C3=12mmE optional 2 &
2. ABO60Z<&H| 1/52+ 1/100f SHH5H C3=16mmE optional2 Ml&
3. ABOQOOfIA C3=24mmE optional2 M, T HE2FEZ4(S1 condition)tlA= AFRA Fo|5 29
4, C1~C102 M E0j| w2} CHEL|Ct ZAF E0|X| www.apexdynakorea.co.kr2 F&5HIS Design ToolS 0|235104 |42 &t

Qlgh 4 AF LT



450

oLt

@D4

2D5

I\

1EH2 &1} 26H 242 QA0 X S ABOG0A / ABO90A
Cc9
B1,, L6 L5 L2 L8 cs8 6T
4-[—1——-1 s | c10 -—W
- A Rpizze T ¢ o N\
= (& EDF Al TP,
g 18
D L9 [ | 8 % @ E
@D3 L10 j 3 25
= L,LL o || E
Shaft Option S1 Shaft Option S2 - =
[unit:mm]
Dimension | AB042 AB060 | AB060A | AB090 | ABO090A | AB115 AB142 AB180 AB220
D1 50 70 100 130 165 215 250
D2 3.4 5.5 6.6 9 11 13 17
D3 js 13 16 22 32 40 55 75
D4 g 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P| M16 X 2P | M20 X 2.5P | M20 X 2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 55 7 10 12 15 20 30
L4 1 15 15 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 3 5 5 6 7
L7 4 6 8 10 12 15 20
L8 58.5 72 | 9 M5 | 1265 1435 176 209.5 248
L9 45 4.8 7.2 10 12 15 15
L10 10 125 19 28 36 42 42
ct1’ 46 46 70 70 100 100 130 165 215
c2’ M4 X0.7P | M4XO0.7P | M5X0.8P | M5X08P | MEX1P | M6X1P | M8X1.25P | M10 X 1.5P |M12 X 1.75P
<14/
c3’ <M/<12' | <1/<122 | <14/ < 16° s15.1%§5/ <19/ <24° <19/ < 24° <32 <38 <48
<
c4’ 25 25 34 34 40 40 50 60 85
c5’ 30 30 50 50 80 80 110 130 180
Cé’ 35 35 8 8 4 4 5 6 6
c7’ 42 42 60 60 90 9 115 142 190
cs’ 295 295 19 19 17 17 19.5 225 29
cy’ 114 138.5 154 1785 1915 2255 2925 337 415
c10’ 8.75 8.75 135 135 10.75 10.75 13 15 20.75
B1 1o 5 5 6 10 12 16 20
H1 15 18 245 35 43 59 79.5

1. AB042 C3=12mmE optionalZ XIS
3. ABOBOA Special type
5. ABO9OA Special type

7. C1~C102 XD E 0] w2} CHEL|CH ZHAF S H|0|X] www.apexdynakorea.co.kr2

2. ABO60 C3=12mm= optionalZ XMIZ

4. ABO90 C3=15.875 & C3=162 optional2 X2

6. AB115 C3=24mm= optionalZ M|, T H&R:
[AIZ Design Tool2 0|2510{ X|4E &folst

pes
B4

TZ=Z4(S1 condition)

73



"ONI'VIHOM SOINVNAQ X3dY

~
S

ABR Series

Gearbox Performance

Specificatio

Model No. Stage | ABR042 | ABRO60| ABR090 | ABR115 | ABR142 | ABR180 | ABR220
3 9 36 90 195 342 588 1,140
4 12 48 120 260 520 1,040 1,680
5 15 60 150 325 650 1,200 2,000
6 18 55 150 310 600 1,100 1,900
1 7 19 50 140 300 550 1,100 1,800
8 17 45 120 260 500 1,000 1,600
9 14 40 100 230 450 900 1,500
10 14 40 100 230 450 900 1,500
14 - 42 140 300 550 1,100 1,800
20 - 40 100 230 450 900 1,500
15 14 - - - - - -
20 14 - - - - - -
Nominal Output Torque Ty Nm 25 15 60 150 325 650 1,200 2,000
30 20 55 150 310 600 1,100 1,900
35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600
45 14 40 100 230 450 900 1,500
50 14 60 100 230 650 1,200 2,000
2 60 20 55 150 310 600 1,100 1,900
70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
120 - - 150 310 600 1,100 1,900
140 - - 140 300 550 1,100 1,800
160 - - 120 260 550 1,000 1,600
180 - - 100 230 450 900 1,500
200 - - 100 230 450 900 1,500
Emergency Stop Torque Tanor Nm 2 3~200 3 times of Nominal Output Torque
Nominal Input Speed niy rpm 1,2 3~200 | 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. Input Speed nig rpm 1,2 3~200 | 10,000 | 10,000 | 8,000 8,000 6,000 6,000 4,000
Micro Backlash P0° arcmin L A . . £V —Z =L =L £V
2 25~200 - - <4 <4 <4 <4 <4
) 1 3~20 <4 <4 <4 <4 <4 <4 <4
Reduced Backlash P1 arcmin 2 25900 <7 <7 =7 <7 <7 <7 =7
; 1 3~20 <6 <6 <6 <6 <6 <6 <6
Standard Backlash P2 arcmin 7 55200 | <9 <9 <9 <9 <9 <9 <9
Torsional Rigidity Nm/arcmin| 1,2 3~200 3 7 14 25 50 145 225
Max. Radial Load Far’ N 1,2 3~200 780 1,530 3,250 6,700 9,400 14,500 | 50,000
Max. Axial Load Faas” N 1,2 3~200 390 765 1,625 3,350 4,700 7,250 | 25,000
Service Life hr 1,2 3~200 20,000°
. 0 1 3~20 = 95%
Efficiency n i 2| 25~200 > 92%
Weight kg 1 3~20 0.9 2.1 6.4 13 24.5 51 83
2 25~200 1.2 1.5 7.8 14.2 27.5 54 95
Operating Temp’ C 1,2 3~200 -10c~+90C
Lubrication 1,2 3~200 Synthetic lubrication oils (NYOGEL 792D)
Degree of Gearbox Protection 1,2 3~200 IP65 (Option IP67)
Mounting Position 1,2 3~200 all directions
Noise Level(ni=3000 rpm,No Load) dB(A) 1,2 3~200 | <61 | <63 | <65 | <68 | <70 | <72 | <74

Gearbox Inertia

Model No. Stage i'| ABR042 | ABROGO | ABRO90 | ABR115 | ABR142 | ABR180 | ABR220
3~10 0.09 0.35 225 6.84 234 68.9 135.4
1 14 - 0.07 1.87 6.25 21.8 65.6 119.8
20 - 0.07 1.87 6.25 21.8 65.6 119.8
Mass Moments of Inertia J1 Kg - cm? 15 0.09 - - - - - -
9 20 0.09 - - - - - -
25~100 0.09 0.09 0.35 225 6.84 234 68.9
120~200 - - 0.31 1.87 6.25 21.8 65.6

1. Ratio(i=Nn/Nou) 2. 71& 1 £8% F7o| 2ot Z2|n FHAE 100rpmOst, 2HZA0 w2t +RlE HHE 4 QoH 2H '247| X #jojC|E HAY SESIFE HE
3. 47| AER2E 0~k AT FTHRE 0~40E 4. Z[H7ISES Tos = 60% of TanoT
5. Service life 10,000hrs (ST:HAE2HEZ) 6. ABRO42 1,2EF ABROBO 1,2%F PO M|ZfRHEl



ABR Series

L8

= =

950

T
!
@D4
D5
|
|
\
|
|
L
|
|
|

B » i ‘ o
& & o
= ‘*’/ /q/ SO; LL_I | ~
} LU 7
\ <|8 |
I | | ° L& _ L9
T
@C3 =)
_ecs | °
B1 e L6 L5
T 'f_l_l_~.
=g B
n 2%
D6 L9 e
Shaft Option S1 |_2P35s Shaft Option S2 |_2P3 Li
[unit:mm]
Dimension ABR042 ABR060 ABR090 ABR115 ABR142 ABR180 ABR220
D1 50 70 100 130 165 215 250
D2 34 5.9 6.6 9 1 13 17
D3 13 16 22 32 40 59) 75
D4 ¢ 83 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 oI5 7 10 12 15 20 30
L4 1 15 15 2 3 3 3
L5 16 25 32 40 63 70 90
L6 2 2 & 5 5 6 7
L7 4 6 8 10 12 15 20
L8 115 145 203 259 333 394 484
L9 4.5 4.8 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c1t 46 70 100 130 165 215 235
c2* M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P M12 X 1.75P
c3 <1/<12 <14/<16’ <19/< 24 <32 <38 <48 <55
c4’ 25 30 40 50 60 85 116
cs* 30 50 80 110 130 180 200
(oo 315 8 4 5 6 6 6
crt 42 60 90 115 142 190 220
cs' 29.5 19 17 19.5 22.5 29 63
c9* 90.5 115 152.5 191.5 235.5 303.5 378.5
c10° 8.75 13.5 10.75 13 15 20.75 53
B1 ho 5 5 6 10 12 16 20
H1 15 18 245 35 43 59 79.5
1. ABR042 C3=12mmgE optionalZ Ml& 2. ABRO60 C3=16mm= optionalZ Xl&

3. ABR0O90 C3=24mmE optionalZ ME, T HLL2FEZA(S1 condition) HIAM= AFRAN Fo|E 4t
4. C1~C102 HMER2E0f| w2t ChELCt SAF EH|0|X| www.apexdynakorea.cokr2 H<6HAE Design ToolS 0|23t X4 &folst 4= QU&LCt

75



L8

. ' =

Vm Yo}

[aj =] -4 11 1 | .

SIS

3
I é Q
L4 ‘ <|©
il ° |
| 28
O
B1 o
\
2 (O
D6
. . 2D3 L10
Shaft Option S1 Shaft Option S2 i
[unit:mm]
Dimension ABR042 ABR060 ABR090 ABR115 ABR142 ABR180 ABR220
D1 50 70 100 130 165 215 250
D2 3.4 5.9 6.6 9 1 13 17
D3 13 16 22 32 40 59 75
D4 ¢ 35 50 80 110 130 160 180
D5 22 45 65 95 75 95 115
D6 M4 X 0.7P M5 X 0.8P M8 X 1.25P M12 X 1.75P M16 X 2P M20 X 2.5P M20 X 2.5P
D7 56 80 116 152 185 240 292
L1 42 60 90 115 142 180 220
L2 26 37 48 65 97 105 138
L3 615 7 10 12 15 20 30
L4 1 1.5 1.5 2 3 3 g
L5 16 25 32 40 63 70 90
L6 2 2 8 5 5) 6 7
L7 4 6 8 10 12 15 20
L8 139 163.5 206.5 285 365 431 521
L9 45 48 7.2 10 12 15 15
L10 10 12.5 19 28 36 42 42
c1® 46 46 70 100 130 165 215
c2° M4 X 0.7P M4 X 0.7P M5 X 0.8P M6 X 1P M8 X 1.25P M10 X 1.5P M12 X 1.75P
<14/
c3° <1/<12' <11/<12 < < 24 < < <
< 15875/ < 16° <19/<24 <32 <38 <48

c4 25 25 34 40 50 60 85
c5° 30 30 50 80 110 130 180
c6° 315 315 8 4 5 6 6
cr 42 42 60 90 115 142 190
cg’ 29.5 29.5 19 17 19.5 22.5 29
c9° 90.5 99.5 126.5 165 205 254.5 323.5
ct° 8.75 8.75 188 10.75 13 15 20.75
B1no 5) 6 6 10 12 16 20
H1 15 18 245 & 43 59 79.5

"ONI'VIHOM SOINVNAQ X3dY

~
(2]

1. ABRO42 C3=12mmZ optionalZ XS
3. ABRO90 C3=15.875 & C3=162 optionalZ XS
5. C1~C102 M2 E 0| wat CHSLICH ZAF SH|0|X| www.apexdynakorea.co.kr2 EsHAlE Design ToolS 0|&510] X|

2. ABROB0O C3=12mmgE optionalZ M=
4, ABR115 C3=24mmE optionalZ |

ru AO
&, B AER

A= 3
+= &t

)



X —
2
Fng
. . | The permitted radial and axial loads on output shaft of the gearbox
Bon By depend on the design of the gearbox supporting bearings.
T——— 1 APEX use the extension straddle oversized ball bearing design.
It can take heavy load from both axes.

F, Radial Load

F,. Axial Load .

100,000 ~

60000 oo ot3(F,)°l &2z
= 40,000 - : SN OHNEE X=1/2 x L
z,. — o| gLg
[, —~— =}

: -.:6 20,000 —~—— 'Aszzo / ABR220 .
- »n SR AR @ 2 @
T 10,000 : E85 aLHoe| B2 LS
3 g 6,000 \\~\\ ‘AB180/ABR180 AT EZHZ QoY 4 %
T 4,000 — :\ ‘AB142/ABR142 152 ABRTHON 2ol
Sl AB115 / ABR115
T O ;000 < Q. ¢ o4 AsHS
xo 5 T AB090 / ABO9OA /

22 ————/<ABR090
b= 5 1,000 \\\\ AB060 / ABO60A /

£0 <ABR060
£ 5 \s\\ AB042 /| ABR042
o 300 °

10 20 40 60 100 200 400 600 1000 2000
Output Speed n, [ rpm ]
Z
<

15 gogd st5(F,)0l EHF

14 ) SN gorHT 27 %8

13 oo e | aeia eme e vy

’ AB060 / ABOGOA / = Mieis
5 1.2 ABRO060 UAEL|CH
= 11 AB090 / AB090A /
2 B\ ABR090 A8AHOINg SET AN
o 1.0
8 AB115/ABR115 52 AAHRK,)Ol 23
E 08 ] < ‘ » AB142/ ABR142 HMES ABLICE
_:| 0.7 AB180/ ABR180 AL E AZEEOIN 2SS
o 0.6 > Q& / AB220 / ABR220 oIaL|Ct
=
B 05 NN B wolel YA ERASE ol
o Q N \\ ~_
o 0.4 NN B ZTpMO| AR} mQBHCE

~ S ey I oT T 1T == .
0.3 I
0 40 80 120 160 200 240 280 320 360 400
Position X [ mm ]

A7) Data €Y 2HAIIHOAD OJyf WOl SMAEIZOID SMAMO| HZSHL UL FHS
; & SGAT| B,

77



"ONI'VIHOM SOINVNAQ X3dY

~
o]

S5 S$1
02 on 1

Cycle Operation Continuous Operation
YES ED<60% NO

A pE B3 WM
TZmax(EqA)

1 WU

EI E‘ -Elllé|\'-|| NO TZmax<TZB T, <T. & E‘ E o
oy Ton<Tan \Zmy AL
!
YES
v
BREHSE(n,,) & THEE(,)E WM ) YES
(Eq.5)

l

AH] =o| _ T s
UaH = _me Ty~ Tons Ny 2 2 DY ALLTOA &0

YE;S
FaHCIH B (Fy,) & BRHNF(F,,,)2
M (Eq.6)
|

8 AICILAB(Fye) & A8FNT(Frg)® | - ¢
o A

2t el AF 2 O] A

)
‘ |
Fom<Fze . NO, o 2 3a1 MeE J

[
W

YES
i

WANSt Key R 2O

O

LER

ng
D
—

Recommended (for S5 Cycle Operation)
The general design is given for

% <4xJ,

The optimal design is given for
‘.J—ZL =J,

J. Load Inertia
J.. Motor Inertia

o=

Motion Profile

Toal ..
m T2C o I— '''''''' h
W T

Ko FZra\FZaa i )
o |

:<H' F2rc‘F2ac— ----- b lecdoozocod
;n'JT F2rp‘FZap .

1
| i | |
1 1 1
F2rd N FZad X
1
1
P i
4qr 1
K 1
ar i
Khu n2p |
ta | tc | tl:l | tp
teyete
Time
S1 : AS2/ E
— T CycleZ EFSA|ZH0| 60%0] Ay
— EEA|Zto] 2022 ZatEtm
— St ZSA|ZH0] 20A12ES =afgty
t+ t+ g .
1. ED = mx 100%, t o = o + 1o + 1y
Index : a. Acceleration, c. Constant,
d. Deceleration, p. Pause (Eq.1)
"~ I']I'I‘l
2 IS r"work
Ny, Output Speed of the Motor
Nyork Working Speed (Eq.2)
3 3 3
NoaXt X Ton +Np Xt XToe +NpgXt X Toy
3. T2m N nZaxta+n20xtc+n2dxtd
(Eq.3)
4. T2max =Tme X ks SN
where Kg is
Kg No. of Cycles / hr
1.0 0~ 1,000
1.1 1,000 ~ 1,500
1.3 1,500 ~ 2,000
1.6 2,000 ~ 3,000
1.8 3,000 ~ 5,000

Tne Max. Output Torque of the Motor

n Efficiency of the Gearbox (Eg.4)

— —_1
5. Nyy = Npg =% Ny
Noa Xty Npe X t+nyy X ty
m n t,+Ht.+ty
= —}N (Eq.5)

3 3 3
nZaxtaxF2ra +n2cxtch2rc +n2dxtdxF2rd
6 F2rm_ 3 nzaxta+n2cxtc+n2dxtd

3 3 3
n2axtaxF2aa +n2cxtchZac +n2dxtdxF2ad
F2am: 3 nZaXta+n2cxtc+n2dxtd (Eq.6)



Ordering Code

AB Series
B - BN - B - B /' IR

Gearbox Size: Shaft Option: Motor Designation:
AB042, AB060, ABO60A, AB090, ABO90A S1: Smooth Output Shaft Manufacturer Type
AB115, AB142, AB180, AB220 S2: Output Shaft with Key And Model

Ratio: Backlash:

1 Stage: 3,4,5,6,7,8,9, 10 PO: Micro Backlash
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, P1: Reduced Backlash
80, 90, 100 P2: Standard Backlash

Ordering Example: AB090-010-S1-P1 / SIEMENS 1FT6 041-4AF71

ABR Series

| ABR090_JECHN 010 JEEN ST JEl  P1_ JWAN MOTOR |

Gearbox Size: Shaft Option: Motor Designation:
ABRO042, ABR060, ABR090 S1: Smooth Output Shaft Manufacturer Type
ABR115, ABR142, ABR180, S2: Output Shaft with Key And Model
ABR220

Ratio: . Backlash:

1 Stage: 3,4,5,6,7,8,9, 10, 14, 20 PO: Micro Backlash
2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, P1: Reduced Backlash
* % *k kk k% * *
80, 90, 100, 120, 140, 160, 180, 200 P2: Standard Backlash

* ABRO420IM =25 2522 15,208 2
** ABR042,ABR0600Il = & = ¢t&

Ordering Example: ABR090-010-S1-P1 / SIEMENS 1FT6 041-4AF71

m SHO0|XIS YESAIE X2 AMSS &Rl 4 UASLICH

=

79

seues
yav/av




"ONI'VIHOM SOINVNAQ X3dY

(=]
o

AB/ABR Series

Characteristic Highlights

True Helical Gear Design
71012t HEE0| A7|0f ChH]
33%01% =0t EIEHS =Y+ US.
0] YA WIPELE U
WEBINT 45D 283 SHILs.
backlash (less than 1 arc-minutes and < 56d

Solid uncaged needle roller bearings= X&.
Ut SZtofl Z|cHet H24o| LISHIES &8,
7y, 153 MAZ| BES IR,

HeliTopo technology2 M85t =2 7|0{8s2 7t8
7101 Crowning2 Safl 7|0 Y=&Ent QHHS Z|XSIAZ
0|Z2l5H 7|0f EH HMEES 2oisA7] EI S S,

AL Plasma nitriding@x{2| ZH|E ZIMES

710 MEAZE= 30 HRCZ SAIGHHM 7|0{EH HE=E
900HV77IX| =01 LHDt2 N 2 LISZANE SAloll SHAIZ
S N2 EX2] YAlol2t X2l HEo| S| M3,

One piece planet carrier with extended bearing design NEW — Patented output sealing system design
Z0|C|Y k& 8 23t Al7|0 AARIS] HEot E= QUM giete Bolof TICN ZEIXZ|S 5t0f OF&t WEs =0
242 st A2, 29 2|3 E x[5ln £HE 23kt (Fx : 3700Hv, 2= : R.0.2um)



APEX DYNAMICS KOREA INC.

Patented planet carrier design
M7101 HlofAS SR Al2|of2tof AXIAZEM
71019 QTS EH =2 HUCE L2

Triple split collet with dynamic balanced set collar
clamping system 2 HHalj#| SO =
S8 Mol SRS A5 MAHE.

EEH100%2] SHE S22 =2 UHEE M=

IMSs BMRER
Nyogel 792D(Smart Grease)S
At85l QUFFE WXletn
FRER7 EHReS.

saues
yav/av

NEW — Patented input sealing system
design

Q20| Quua} giate B9l

TICN ZEf2IE B4 xgstoz

OFEDH 2ES 2430610 22|35

e e ABREHS ALJO| HiH7I0S HB3 Angle TAZ oIS
A : 3700Hv, 2= : Ra0.2um == = - _

° B 3100 Ol DEHO LS4 I TUNEHPTS NS

81



